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1. Konstruiere	das	Dreieck	aus	c	=	6,8cm,	hc	=	2,5cm	und	𝛾 = 90°.	

2. Konstruiere	das	Dreieck	aus	c	=	7,2cm,	sc	=	5,8cm	und	𝛾 = 60°.	

3. Konstruiere	das	Dreieck	aus	c	=	8,1cm,	hc	=	4,9cm	und	𝛾 = 64°.	

4. Konstruiere	ein	Dreieck	mit	c	=	5cm,	sc	=	4cm	und	γ	=	57°.	

5. Konstruiere	ein	Dreieck	mit	r	=	3,5cm,	hc	=	3,8cm	und	γ	=	70°.	

	

6. Konstruiere	ein	Dreieck	aus	folgenden	Angaben.	
	 a)	 r	=	3,5cm	 α	=	75°	 β	=	55°	
	 b)	 r	=	3,3cm	 γ	=	70°	 hc	=	3,8cm	
	 c)	 r	=	3,2cm	 α	=	65°	 sa	=	4,1cm	
	 d)	 r	=	3,8cm	 a	=	3,3cm	 β	=	100°	
	
7. Konstruiere	ein	Dreieck	aus	folgenden	Angaben.	
	 a)	 c	=	7cm	 hc	=	4,5cm	 γ	=	70°	
	 b)	 c	=	5cm	 sc	=	4cm	 γ	=	57°	
	 c)	 a	=	4,5cm	 hb	=	3,5cm	 α	=	53°	
	 d)	 a=	6,5cm	 hc	=	5,5cm	 hb	=	4,5cm	
	


